TOO AND ENOUGH PRACTICE

Complete the sentences with TOO or ENOUGH and the adjectives provided:

1. Sally can’t wear that skirt. It’s ...too short.(short).

2. Tony won't buy those shoes. They aren’t (big)

3. Ann can’t wear that jacket. It's not (long)
4. Peter won’t buy those jeans. They aren’t (short)
5. Carlos can’t buy that watch. It isn’t (cheap)
6. Terry can’t get through the window. He is (big)

7. She can carry the suitcase. It is (light)
8. He can’t carry the suitcase. It is (heavy)
9. Jason can reach the shelf. He is (tall)

Answer the questions using TOO or ENOUGH.

o

Can he go into the pub? No, he can’t (old) He isn’t old enough
Can he pay for his dinner? No, he can’t (money) He hasn’t got

Can he lift the table? Yes, he can (strong) He is
Can Sally go to the party? No, she can’t (ill) She is
Can he climb the tree? No, he can’t (old) He is

Can she wear the dress? Yes, she can (big) It is
Can he buy a bicycle? Yes, he can (money) He has got

Can he but her dinner? No, he can’t (poor) He is
Can she drink the tea? No, she can’t (hot) It is
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Re-write the sentences so that they mean the same as the sentence given.

1 Laurie isn’t tall enough to play basketball.

2 Annie's too young to vote.

3 I'm not strong enough to open this bottle.

4 My French is too bad to read a newspaper.

5 Peter isn’t old enough to go out by himself.

6 Rob isn’t fast enough to win the race.
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